RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Authorizing Tohono O'odham Ki:Ki Association to Submit a 2021 Indian Community Development Block Grant Application for Construction of 10 New Affordable Homeownership Housing Units)

RESOLUTION NO. 21-391

1	WHEREAS,	the Constitution of the Tohono O'odham Nation vests the Legislative Council with
2		the power "to promote, protect and provide for public health, peace, morals,
3		education and general welfare of the Tohono O'odham Nation and its members"
4		(Constitution, Article VI, Section 1(c)(2)); and
5	WHEREAS,	the Tohono O'odham Ki:Ki Association ("TOKA") is the Nation's tribally
6		designated housing entity in accordance with the Native American Housing
7		Assistance and Self-Determination Act of 1996, 25 U.S.C. § 4101, et seq., P.L. 104-
8		330, 110 Stat. 4016 ("NAHASDA") and is authorized to receive and administer the
9		Indian Housing Block Grant and to seek other funds to operate and expand
0		affordable housing; and
1	WHEREAS,	the TOKA wishes to provide supportive facilities for residents of affordable
2		housing by submitting a 2021 ICDBG application for \$2,000,000 and to leverage
3		these funds with \$500,000 of 2023 Indian Housing Block Grant funds for
4		construction of 10 new homes for tribal community members; and
15	WHEREAS,	the Nation held public meetings to discuss the ICDBG program and eligible
16		activities including the proposed project and allowed public comments and
17		made modifications to the application as necessary in compliance with 24 CFR
18		1003.604(a); and
19	WHEREAS,	the Housing Committee has reviewed the 2021 ICDBG application and
20		recommends its approval.
21	NOW, THERE	FORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that:
22		1. the TOKA is authorized to submit the 2021 application for ICDBG funding
23		in the amount of \$2,000,000 and to leverage these funds with Indian
24		Housing Block Grant funds to construct 10 new homeownership housing
25		units; and
26		2. the Nation confirms compliance with the ICDBG Citizen Participation
27		requirements of 24 CFR 1003.604.
28	BE IT FINAL	LY RESOLVED that the Tohono O'odham Legislative Council authorizes and directs
29		the Nation's chairperson or any designated official to execute all documents
30		necessary for the TOKA to submit the 2021 ICDBG application and any documents
31		that may require the Nation's chairperson's signature post award, including the
32		environmental review.

RESOLUTION NO. 21-391

(Authorizing Tohono O'odham Ki:Ki Association to Submit a 2021 Indian Community Development Block Grant Application for Construction of 10 New Affordable Homeownership Housing Units) Page 2 of 3

The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 12TH cil by, by the istant f June

2	day of OCTOBER, 2021 at a meeting at whi	ch a quorum was present with a vote of 3,218.0 FOR;
3	3 <u>-0-</u> AGAINST; <u>-0-</u> NOT VOTING; and <u>-0-</u> ABSI	NT, pursuant to the powers vested in the Council by,
4	Article VI Section 1(c)(2) of the Constituti	on of the Tohono O'odham Nation, adopted by the
5	Tohono O'odham Nation on January 18,	1986; and approved by the Acting Deputy Assistant
6		larch 6, 1986, pursuant to Section 16 of the Act of June
7		•
8		
9		TOHONO O'ODHAM LEGISLATIVE COUNCIL
Ó		h - 14 A
i		Manuflit, War
2		
3		Limothy Joaquin, Legislative Chairman
5	· ·	8 day of / Cto/lu , 2021
6	2	
7	7	
7		
8	8 ATTEST:	
9		
20		
21	Evonne Wilson, Legislative Secretary	
22		
2.3	$\frac{1}{2} \frac{1}{2} \text{ day of } \frac{1}{2} $	
22 23 24 25	1	
25	Said Resolution was submitted for appr	oval to the office of the Chairman of the Tohono
26		Oction, 2021 at 10.0% o'clock, a.m.,
27		of Article VII of the Constitution and will become
28		ailure to either approve or disapprove it within 48
29		
30		
31	1	TOHONO O'ODHAM LEGISLATIVE COUNCIL
32	2	Pa 1/2 12= -
33	3	Mulith WWal-
34	4	Municipal Commence
35	5	yimothy Joaquin, Legislative Chairman
36	δ	
37	7	~
88	8	
39	_ I	100
10	0 APPROVED on the	(8) day of October, 2021
11	1 1 5	7
		29 o'clock, <u>(</u> .m.
13	3	
14	4	X \ .
15	5	// VX // // ~ //
12 13 14 15 16 17	NED NO	ORRIS, JR., CHAIRMAN
17	7 TOHON	O O'ODHAM NATION
• ′	' TOMON	V V V V V V V V V V V V V V V V V V V

48

49 50 51

	Block Grant Application for Construction of 10 New Affordable Homeownership Housing Units) Page 3 of 3								
1	Returned to the Legislative Secretary on the 19 day of								
2	October 2021, at 5100 o'clock, p. m.								
5	/ VIII 1. 1/1								
6									
7	Evonne Wilson, Legislative Secretary								
8									
9 10									
11									
13									
14									
15									
16									
17									
18									
19									
20									
21 22									
22 23									
23 24									
25									
26									
27									
28									
29									
30									
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35									
32									
33									
34 35									
36									
37									
38									
39									
40									
41									
42									
43									
44 45									
45 46									
40 47									
48									
49									
50									

(Authorizing Tohono O'odham Ki:Ki Association to Submit a 2021 Indian Community Development

RESOLUTION NO. 21-391

ACTION: AUTHORIZING TOHONO O'ODHAM KI:KI ASSOCIATION TO SUBMIT A 2021 INDIAN COMMUNITY

DEVELOPMENT BLOCK GRANT APPLICATION FOR CONSTRUCTION OF 10 NEW AFFORDABLE

HOMEOWNERSHIP HOUSING UNITS

MOVED: COUNCILWOMAN VICTORIA HOBBS

SECOND: COUNCILWOMAN DELISA RAMON

DATE: OCTOBER 12, 2021

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. MARY LOPEZ	122.8	х			
245.6	(Ann M. Garcia) 2. LUCINDA ALLEN (Francis Homewytewa)	122.8	Х			
SELLS	1. ARTHUR WILSON	278.25	x			
556.5	() 2. EVELYN JUAN-MANUEL (Absent) (Arvada Liston) (Present)	278.25	Х			
SCHUK TOAK	1. TERESA F. DONAHUE	95.25	x			
190.5	(Alberta Espinoza) 2. DELISA M. RAMON (Sharon A. Francisco)	95.25	X			
SAN XAVIER	1. DANIEL L.A. PRESTON III	121.3	x			
242.6	(Racheal Vilson-Stoner) 2. JANICE FELIX (Adam P. Andrews)	121.3	Х			
SAN LUCY	1. JANA MONTANA	121.9	x			
243.8	(Lorraine M. Eiler) 2. ROGER MANUEL (Christina Andrews)	121.9	X			
PISINEMO	1. MARIETTA MARTIN	116.35	x			
232.7	() 2. EDWARD D. MANUAL (Monica Morgan)	116.35	х			
HICKIWAN	1. LOUIS R. LOPEZ	108.3	х			
216.6	2. SANDRA D. ORTEGA (Absent) (Delma M. Garcia) (Present)	108.3	X			
GU VO	1. GRACE MANUEL	135.35	х			
270.7	() 2. CYNTHIA SAAVEDRA (Dallas Lewis)	135.35	X			
GUACHI	1. TIMOTHY L. JOAQUIN	139.25	х			
278.5	() 2. VICTORIA HOBBS (Tonya L. Joaquin)	139.25	х			
CHUKUT KUK	1. MARLAKAY HENRY	175.8	х			
351.6	(Billman Lopez) 2. VIVIAN JUAN-SAUNDERS (Cornelius Antone)	175.8	х			
BABOQUIVARI	1. ALBERTA J. RAY	194.45	х			
388.9	(Frances G. Antone) 2. LEANDER MASE (Francine Schooling)	194.45	х			
	TOTAL	3,218.0	3,218.0	-0-	-0-	-0-